EE10

Midterm Exam
Fall 2013
Group 1

Time Limit: 1 hour and 50 minutes
Open Book, Open Notes

Calculators are allowed.

Your Name:
So)udrons
Name of Person to Your Left: Name of Person to Your Right:
L. {0
2. |0
3. 10
4. 1D



1. Determine / x in the circuit shown below.
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2. Determine V| in each circuit shown below. (Your answers should not include /,.)
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3. In the circuit shown below, we wish to calculate V,,;.

(a) Determine the Thevenin equivalent of the circuit in the dashed box. (Your answer should not include /;.)
(b) Use the Thevenin equivalent to find V7.

(c) Check your answer for A" = 0 and /;, = 0 and explain why it makes sense.
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4. The circuit shown below begins with an initial voltage of ¥y on ('|. Determine V,,,,; as a function of time. (Your

answer should not include 7;.)

e

Kl

t
@ . + :
I_—-—‘—‘—<——< >— )

+ e oy +
Vo TC1 =R, ; R2§E Vout (

Ly T

Methoc I .i } !
{ J

— o —— e

Fnd. +the Thevenn qua,ﬁefft ef the. cirewitin he

I, =~Ix =+ Cwrreal

thrugh Rr= VX + KLy
Ra
R

=l

==y EX KT

Ry (/+/€z7 7

7724_5 the. vo/‘/wﬁa at nede 1 ceay be_ exfare_sxd ad

v (t) = W exp 2 z = [fi‘lj[(,ezf,()]c

Lo alse have VY (t)-+ KL, o
—t
=L Rt =V (&) =r Vut=—LRz=—+ OB, Vol eyt

Rz“f/( R4 K

7 - ~ +

Hethod. AL % A twe—termindl levice cubose
1/9/42_04& CKL) rs /D/b/ﬂsff?onaﬁ to
Cfs current (L) 73 a resisfor?

/Pc:'?, =K

Yout Vout = %ﬂfjk S

T = K; ff CK‘}"/C;)



